Worksheet 2.4

More Practice-Projectile Motion

1. A canon is fired at an angle of 30° and lands 5 seconds later.
a. What was the initial velocity of the cannon in the y-direction/

b. What was the initial velocity along the direction of launch (30°)?

c. What was the maximum height of the canon ball?

d- Att =3 s, what is the magnrtuae and angle of the velocity along the path of motion?
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2. A sling-shot fires a rock anh angle of 30° from a height of 0 m with an initial velocity of 40
m/s.

a. At 3 seconds into the rock’s flight, what is the velocity in the y-direction?

b. At 3 seconds into the rock’s flight, what is the velocity in the x-direction?

c: What is the combined velocity and angle of the rock at 3 seconds into the trip?
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3. A skier flies off a jump 10 m high at an angle of 30° with an initial velocity of 20 m/s.

a. How far does the skier go? ¥ (7
b. What is the velocity of the skier as they land their jump?\J L£< (¢

c. What angle does the skier land at? ¢&7
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4. An unmanned rocket to the moon is launched from a 10 m tall platform at an angle of 80° and
an initial velocity of 100 m/s.

a. How long does it take for the rocket to get to its maximum height?

b. What is the maximum height of the rocket?

c. At what time is the velocity of the rocket in the y-direction = -20 m/s?

d. Where is the rocket in the x-direction at that same time?
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5. A ball rolls down a roof angled at 30° to the horizontal and rolls off the edge with a velocity
of 1 m/s. A person is standing 4 m below the roof and 2 m away in the horizontal direction.
a. How close to the person does the ball land?
b. What are the velocities in the x and y directions when the ball lands on the ground?
i ? .
c. How long does it take for the ball to land on the ground? VYL = lcos2o= -Ybl ~ /5
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